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Question Number : 1 Question Id : 50521227875 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is meant by ‘sensitive period’ in child development?

Options:

1. Period concerning a rapid advances only in cognition and learning.

2. Optimal period for development of specific capabilities.

3. Period in which development of only language can be accelerated.

4. Period at which physical growth is at its peak.

Question Number : 1 Question Id : 50521227875 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 50521227876 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cephalo - Candal principal of development states that -
Options:

1. development proceeds from head to toe.

2. development proceeds from centre to extremities.

3. development proceeds from toe to head.

4. development proceeds from extremities to the centre.

Question Number : 2 Question Id : 50521227876 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 50521227877 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Thought becomes abstract and idealistic during the period of -
Options:

1. Infancy

2. Early childhood

3. Middle childhood

4. Adolescence

Question Number : 3 Question Id : 50521227877 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 50521227878 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rearranging schemas, linking them with other schemas to create a strongly interconnected

cognitive system in Piaget's theory is referred to as
Options :
1. Assimilation.

2. Accommodation.



3. Organization.

4. Maturation.

Question Number : 4 Question Id : 50521227878 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 50521227879 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children in stage can solve problems mentally but the problems themselves have to

be related to materials and not symbols.
Options :

1. formal operational

2. concrete operational

3. sensori - motor

4. pre-operational

Question Number : 5 Question Id : 50521227879 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 50521227880 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Socio-constructivist theorist consider the child as -
Options :

1. a blank slate

2. passive recipients of knowledge

3. active beings involved in creation of knowledge.

4. miniature adults.

Question Number : 6 Question Id : 50521227880 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 50521227881 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Encouraging dialogue among students and providing scaffolding are examples of -
Options :

1. creating a zone of proximal development.

2. conditioning of responses.

3. positive reinforcement.

4. transfer of learning.

Question Number : 7 Question Id : 50521227881 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 50521227882 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who proposed that new knowledge is constructed is a zone between what the child knows and

what she is capable of knowing with support?
Options :

1. Lev Vygotsky

2. Jean Piaget

3. Howard Gardner

4. Ivan Pavlov

Question Number : 8 Question Id : 50521227882 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 50521227883 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these situations is illustrative of a child-centred classroom?

Options :

1. A class in which the students are sitting in groups and the teacher takes turns to go to each
group.

2. A class in which the behaviour of students is governed by the rewards and punishment the

teacher would give them.
3. A class in which the teacher dictates and the students are asked to memorise the notes.

4. A class in which the students do whatever they want while the teacher watches them silently.

Question Number : 9 Question Id : 50521227883 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 50521227884 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The idea of ideal reciprocity as exhibited in the Golden Rule is the key characteristics of which



stage of moral development according to Kohlberg?
Options:

1. Social order orientation

2. Social contract orientation

3. Universal ethical principles

4. Good boy- good girl orientation

Question Number : 10 Question Id : 50521227884 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 50521227885 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Intelligence is according to Howard Gardner.
Options :

1. a positive change in behaviour

2. a negative change in behaviour

3. the ability to produce original products



4. a set of several distinct abilities

Question Number : 11 Question Id : 50521227885 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 50521227886 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Teachers should follow standardized curriculum, pedagogy and methods of

assessment.

Reason (R) : Educational systems should ignore and dismiss individual differences among the

children.

Options :

1. Both (A) and ( R) are true and ( R) is the correct explanation of (A).

2. Both (A) and ( R) are true but ( R) is not the correct explanation of (A).
3. (A)is true but (R) is false.

4. Both (A) and (R) are false.



Question Number : 12 Question Id : 50521227886 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 50521227887 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Encouraging girls to take up languages and arts and discouraging them to take up mathematics

and science is an example of -
Options :

1. gender equity

2. gender constancy

3. gender discrimination

4. gender empowerment

Question Number : 13 Question Id : 50521227887 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 50521227888 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements correctly describes the relationship between language and

thought as per the socio-constructivist perspective?

Options :

1. Language determines thought.

2. Thought is governed and directed by language.

3. Relationship between language and thought is bi-directional.

4. Language and thought are independent cognitive capabilities.

Question Number : 14 Question Id : 50521227888 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 50521227889 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To ensure focus on ‘assessment for learning’ rather then ‘assessment of learning’ it is important to

include:

(i) Self - assessment

(ii) Peer- assessment

(iii) Quantitative feedback

(iv) Comparisons between students on quantitative parameters
Options :

1. (iii), (iv)

2. (i), (i1), (iii)

3. (ii), (iii), (iv)

4. (i), (ii), (iii), (iv)

Question Number : 15 Question Id : 50521227889 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 50521227890 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following practice promotes inclusion in education?
Options :

1. Corporal punishment to students

2. Learning for competitive exams

3. Respect for diversity

4. Standardized curriculum

Question Number : 16 Question Id : 50521227890 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 50521227891 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following disability causes challenges in paying attention and sustaining long

duration involvement in tasks?

Options :

1. Attention Deficit Hyperactivity Disorder
2. Dysgraphia

3. Dyslexia

4. Visual Impairment

Question Number : 17 Question Id : 50521227891 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 50521227892 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a class having learners from various linguistics identities, a teacher should practice:
Options :

1. Multilingualism

2. Segregation

3. Labelling

4. Stereotyping

Question Number : 18 Question Id : 50521227892 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 50521227893 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Use of multimedia for communication will help inclusion of:

(i) students with intellectual difficulties

(i) students with giftedness

(iii) students with Autism

(iv) students with Dyslexia
Options :

1. (i)

2. (i), (iii)

3. (i), (ii), (iv)

4. (i), (i), (iii), (iv)

Question Number : 19 Question Id : 50521227893 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

WE%UWW% SUIT § AT 3 ¥ hde 99E9 ¥ 0eg e
(i) StTgan =ttt aTet or

(if) TferTaTTET B

(iii) =refieaT aret BT

(iv) U39-3 I B

Options:

7. 0

, (i), (iii)



o (D), (i), (iv)

. (0), (i), (iii), (iv)

Question Number : 20 Question Id : 50521227894 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of appropriate accommodation strategy for

inclusion of students with specific disability?

Options :

1. Dyscalculia: Prohibition of use of calculator

2. Dyslexia: Giving long essays to be written

3. Visual impairment: Providing read-to-text software

4. Autism: Increasing visual overload

Question Number : 20 Question Id : 50521227894 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 50521227895 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following does not facilitate students’ thinking?
Options :

1. Active involvement

2. Meaningful activities

3. Passive listening

4. Social participation

Question Number : 21 Question Id : 50521227895 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 50521227896 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
opportunity of hands-on activities is likely to learning among students.

Options:



1. Avoiding, improve
2. Facilitating, improve
3. Presenting, stagnate

4. Preventing, enhance

Question Number : 22 Question Id : 50521227896 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 50521227897 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct in context of learning?

Options:

1. Students learn best when they participate in activities that are related to their context

2. Students learn best when they participate in activities that are not related to their context
3. Students learn best when they participate in meaningless activities

4. Students learn best when they participate in mechanical activities



Question Number : 23 Question Id : 50521227897 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 50521227898 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While introducing a new topic, a teacher should ask questions which:
Options :

1. are from the domains completely unfamiliar from students.

2. are much beyond their cognitive abilities.

3. has not relation with the topic to be taught.

4. relates the topic to be studied with what students already know.

Question Number : 24 Question Id : 50521227898 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 50521227899 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Socio-cultural context of students:

Options :

1. has minimal role in the learning process

2. has norole in the learning process

3. plays a significant role in the learning process

4. should be ignored in the learning process

Question Number : 25 Question Id : 50521227899 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 50521227900 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher intends to facilitate reflective skills among her students. This can be done by:
Options :

1. Asking students to copy the content written on board.

2. Encouraging students to ask themselves questions about their understanding.

3. Giving a passage to students for rote - memorization.

4. Shaping the students’ behaviour using stimulus -response associations.

Question Number : 26 Question Id : 50521227900 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 50521227901 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should:

Options :

1. discourage students to identify their errors themselves
2. ignore misconceptions carried by students

3. strengthen students’ misconceptions.

4. scaffold students to correct their errors themselves.

Question Number : 27 Question Id : 50521227901 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 50521227902 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student is felling very nervous and having high anxiety before the exam. His emotional state is

likely to



Options :

1. cause internal motivation for performance.
2. have no impact on his performance in exam.
3. improve his performance in exam.

4. negativity impact his performance in exam.

Question Number : 28 Question Id : 50521227902 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 50521227903 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of following is a correctly matched pair of a source of motivation and the type of

motivation?

Options:

1. Curiosity - Intrinsic motivation

2. Appreciation from peers - Intrinsic motivation

3. Praise of teacher - Intrinsic motivation



4. Trophy in match - Intrinsic motivation

Question Number : 29 Question Id : 50521227903 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 50521227904 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will not facilitate understanding of a concept?
Options :

1. Asking students to copy the answers from the notes given by teacher.
2. Asking students to explain that concept in their own words.

3. Asking students to frame principles from specific examples.

4. Asking students to generate analogies between different conditions.

Question Number : 30 Question Id : 50521227904 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Social Studies or Social Science

SectionId: 505212882
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60

Section Marks : 60

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121606
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 50521227905 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Samudragupta is depicted in coins playing which musical instrument?
Options:

1. Tanpura

2. Sitar

3. Veena

4. Flute

Question Number : 31 Question Id : 50521227905 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 50521227906 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read statements A, B and C and select correct answer.
Why Magadha became the most important Mahajanpada in about two hundred years?

A. Many rivers such as Ganga and Son flowed through Magadha.



B. Parts of Magadha were forested.

C. There were iron ore mines in the region.
Options :
1.Aand B
2.Band C
3.Cand A

4. A, BandC

Question Number : 32 Question Id : 50521227906 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 50521227907 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the statements (A) and (R) and choose the correct option.
Assertion (A): The Roman empire carried out trades with South India.

Reason (R): Roman gold coins have been found in South India.
Options :

1. Both (A) and (R) are correct and R is the correct explanation of A.

2. Both (A) and (R) are correct and R is not the correct explanation of A.
3. (A) is true, but (R) is false.

4. (A) is false but (R) is true.

Question Number : 33 Question Id : 50521227907 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 50521227908 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is a feature of a trading town in medieval period?
Options:

1. The temple was central to the economy and society.

2. It was the capital of the kings.

3. They usually had a Mandapika.

4. The priests and pilgrims formed the main composition of its residents and visitors.

Question Number : 34 Question Id : 50521227908 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 50521227909 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the statements A, B and C on periodisation of history and choose the correct answer.
A. British historians divided the history of India into three periods.

B. The division was based on the idea of religion.



C. The division ignored the rich diversity of the subcontinent.
Options:

1. A, Band Call are correct.

2. A and B are correct and C is incorrect.

3.Aand C are correct and B is incorrect.

4. B and C are correct and A is incorrect.

Question Number : 35 Question Id : 50521227909 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 50521227910 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the statements A and B about Banjaras and choose the correct answer.

A. The Banjaras were the most important trader nomads.



B. Alauddin Khalji made the Banjaras to transport grains to the city markets.
Options :

1. Both A and B are false.

2. Ais true and B is false.

3. Ais false and B is true.

4. Both A an B are true.

Question Number : 36 Question Id : 50521227910 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 50521227911 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

By the seventh century, many European colonialists began to cultivate indigo. In this context,

match the following correctly.



A) French ...(i) Brazil
B) Portuguese ...(ii) Jamaica
C) English ...(iii) Venezuela

D) Spanish ...(iv) Caribbean Island
Options :

1. A-iv, B-i, C-ii, D-iii

2. A-i, B-ii, C-iii, D-iv

3. A-iv, B-ii, C-i, D-iii

4. A-iii, B-i, C-ii, D-iv

Question Number : 37 Question Id : 50521227911 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 50521227912 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements and choose the correct option.

(A) In the Nij system of cultivation of sugarcane, the planter produced sugarcane on the land that

he directly controlled.

(B) In the Nij system, planter either bought the land or rented it from other zamindars and

produced indigo by directly employing hired labourers.

(C) In the Nij cultivation, the Planter would need vast number of hands,many plough and bullocks.
Options :

1. A, Band C are correct.

2. A and B are correct.

3. B and C are correct.

4. A and C are correct.

Question Number : 38 Question Id : 50521227912 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 50521227913 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rammohun Roy in his writings argued and persuaded that Sati had no sanction because:
Options :

1. the British were against it.

2. the ancient sacred texts did not endorse it.

3. ancient texts that endorsed Sati must be discarded.

4. women who committed Sati were desirous of death.

Question Number : 39 Question Id : 50521227913 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 50521227914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements in the context of reforms associated with women:

(A) Ishwar Chand Vidyasagar took up the cause of widow remarriage.

(B) Veersalingam Pantulu formed an association of widow remarriage in Madras Presidency.
(C) Widows who remarried were accepted well in the society.

Which of the above are correct?
Options :

1. (A), (B) and (C)

2. Only (A) and (B)

3. Only (A) and (C)

4. Only (B) and (C)

Question Number : 40 Question Id : 50521227914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 50521227915 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements Assertion (A) and Reasoning (R) and choose the correct option.

Assertion (A): During 19th century, when the first schools were opened for girls, people were afraid

of them.

Reason (R): People feared that travelling to schools would have a corrupting influence on girls.
Options :

1. Both (A) and (R) are true and R is the correct explanation of A.

2. Both (A) and (R) are true but R is not the correct explanation of A.

3. (A) is true, but (R) is false.

4. Both (A) and (R) are false.

Question Number : 41 Question Id : 50521227915 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 50521227916 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements in the context of British rule in India and choose the correct

option:
(A): Moderates demanded that civil service examination should be held in India as well.

(R): It was a major demand of moderates that Indians be placed in high positions.
Options :

1. Both (A) and (R) are true and R is the correct explanation of A.

2. Both (A) and (R) are true but R is not the correct explanation of A.

3. (A) is true, but (R) is false.

4. Both (A) and (R) are false.

Question Number : 42 Question Id : 50521227916 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 50521227917 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider these statements in the context of Rowlatt Satyagraha and choose the correct option.
(A) Rowlatt Act curbed the fundamental rights and strengthened police powers.

(B) Mohammad Ali Jinnah, Mahatma Gandhi and others argued that government has no right to

restrict people's basic freedoms.

(C) Even though Hindus and Muslims were against Rowlatt Act, the Rowlatt Satyagraha could not

turn out to be the all India struggle against the British.
Options :

1. Both (A) and (B) are true.

2. Both (B) and (C) are true.

3. Both (A) and (C) are true.

4. Only Cis true.

Question Number : 43 Question Id : 50521227917 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 50521227918 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is/are the important criteria used to provide opportunities for Indians to study in
government run or supported educational institutions and to work in government offices in India?
A. Caste

B. Family Income

C. Gender

D. Income of Individual

Choose the correct option.



Options :
1.A,Band C
2.B,Cand D
3.Aand B

4. A only

Question Number : 44 Question Id : 50521227918 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 50521227919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the given statements A and B and select the correct answer.



A. Earth provides the pulling force that binds the solar system.

B. Outer planets are far from the sun and are made up of rocks.
Options :

1. Ais true and B is false

2. Aisfalse and B is true

3. Both A and B are true

4. Both A and B are false

Question Number : 45 Question Id : 50521227919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 50521227920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Gulf stream is a warm current thus it has tendency to move

Options:



1. towards equator
2. towards poles
3. neither towards equator nor towards poles

4. with no certainty.

Question Number : 46 Question Id : 50521227920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 50521227921 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following two statements about longitudes.
A. All meridians of longitudes are of equal length.
B. The value of Prime Meridian is 180° longitude.

Choose the correct option.

Options :



1. Ais true and B is false
2. Ais false and B is true
3. Both A and B are true

4. Both A and B are false

Question Number : 47 Question Id : 50521227921 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 50521227922 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements (A), (B) and (C) and choose the correct option.

(A) Heat zones of the world are categorized according to latitudes.



(B) The imaginary lines joining the north and south poles are called longitudes.

(C) All longitudes are of equal length.
Options :

1. Only (A) and (B) are true.

2. Only (B) and (C) are true.

3. Only (A) and (C) are true.

4. Only (A) is true.

Question Number : 48 Question Id : 50521227922 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 50521227923 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching the physical features of India, a teacher asks students to mark rivers flowing in the



Vindhya and Satpura ranges on a physical map of India. Which of the following rivers does she

want the students to make?
Options :

1. Narmada and Tapti

2. Narmada and Mahanadi
3. Tapti and Godavari

4. Krishna and Godavari

Question Number : 49 Question Id : 50521227923 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 50521227924 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following two statements about ocean currents and choose the correct option.

A. The areas where the warm and cold currents meet provide the best fishing grounds of the

world.



B. The areas where the warm and cold currents meet are difficult areas for navigation.
Options :

1. Ais true and B is false

2. Aisfalse and B is true

3. Both A and B are true

4. Both A and B are false

Question Number : 50 Question Id : 50521227924 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 50521227925 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher is teaching the concept of ecosystem in an elementary/middle stage class. Which of the

following information will be useful for her?



(A) Climate conditions of specific place
(B) A rainforest as an example

(O)A small pond as an example
Options :

1. Only (A) and (B)

2. Only (B) and (C)

3. Only (A) and (C)

4. All (A), (B) and (C)

Question Number : 51 Question Id : 50521227925 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 50521227926 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements and choose the correct option.
(A) Humidity is greater over oceans and least over the continents.
(B) Condensation depends upon the amount of cooling and relative humidity of the air.

(C) the white trail behind jet planes is moisture that is condensed.
Options :

1. Both A and B are correct.

2. Both B and C are correct.

3. Both A and C are correct.

4. All (A), (B) and (C) are correct

Question Number : 52 Question Id : 50521227926 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 50521227927 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

From the following statements on air pressure, choose which is the correct one:
Options :

1. Air pressure is lowest at sea level.

2. Air pressure decreases with height.

3. In areas having high temperature the air is cold.

4. In areas having lower temperature the air gets heated and rises.

Question Number : 53 Question Id : 50521227927 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 50521227928 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements (A), (B) and (C) and choose the correct option.



(A) Human settlements are reflection of how human beings have modified their environment.
(B) Natural conditions play no role in selection of an ideal site.

(C) Only when humans started to grow crops, it became necessary to have permanent homes.
Options :

1. Only (A) and (B) are true.

2. Only (B) and (C) are true.

3. Only (A) and (C) are true.

4. Only (C) is true.

Question Number : 54 Question Id : 50521227928 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FATerTign 9 A,B 79T C T Famm e, 4Tt e Fafed 31 T i,

A. T A1 560 AT 01 S € (o (o SR T F SO STTaoT o 0 STt o 2
B. % 37T 9919 TYTH %?wﬁm@%mmﬁmﬁémﬂﬁ%l

& %awaaqiwérwﬁ ST T ToFaT, 78 37 o0, STl = ST SATavards 21 T

Options :

| T A TUT B TEE
, I B q4T C T2
3 FI A TITC TE E)

4, A C HE 2

Question Number : 55 Question Id : 50521227929 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the statements (A), (B) and (C) on water as a resource and choose the correct option.

(A) Water can neither be added or subtracted from the earth.

(B) Only 2.7% of the earth's water is fit for human use.

(C) Water is a renewable resource.
Options :

1. Only (A) and (B) are true.

2. Only (B) and (C) are true.

3. Only (A) and (C) are true.

4. A, B and C are all true.

Question Number : 55 Question Id : 50521227929 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 50521227930 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher wants to discuss about minerals in her class at elementary level. Which of the following

examples should she use in her class?

(A) Copper

(B) Mica

(C) Salt

(D) Lime stone

Choose the correct option.
Options:

1. Only (A) and (B)

2. Only (A), (B) and (C)

3. Only (A), (C) and (D)

4. All (A), (B), (C) and (D)

Question Number : 56 Question Id : 50521227930 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 50521227931 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the crop from the given features (A) and (B).
(A) It requires warm and wet climate and well drained loamy soil.

(B) Hill slopes are more suitable for growth of this crop.
Options :

1. Tea

2. Coffee

3. Cotton

4. Rice



Question Number : 57 Question Id : 50521227931 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 50521227932 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following symbolises diversity?

A. People belonging to the same caste, but living in different places, marry people from their own

caste.

B. Students from the same locality but belonging to different castes studying in a school.

C. People belonging to same religious faith and living in one locality.

D. Food materials and clothes catering to different communities available in a shopping locality.

Choose the correct option.

Options :



1.Aand B
2.A,Band C
3.Aand C

4.Band D

Question Number : 58 Question Id : 50521227932 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 50521227933 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following practices symbolises the acceptance of diversity?

A. Encouraging women to run public vehicles such as taxis, autos and buses



B. Forming self help groups containing only women and from a few communities
C. Allowing people from a few communities to buy land and other properties

D. Reserving a park to celebrate festivals for those residing in the surrounding areas
Options :

1.AandB

2.Cand D

3.A,Band C

4. Aand D

Question Number : 59 Question Id : 50521227933 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 50521227934 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Mahatma Gandhi National Rural Employment Guarantee Act 2009, identifying and

generating employment opportunities in the rural area is the responsibility of
Options :

1. Indian Parliament.

2. State Legislature.

3. District Panchayat.

4. Village Panchayat.

Question Number : 60 Question Id : 50521227934 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 50521227935 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following and choose the correct option.



Levels of government ...Types of Decisions

a. Central government ...(i) Decision to open a park in Vellore, a small town in Tamil Nadu

b. State government ...(ii) Introduction of new 2000 rupee note

c. Local government ...(iii) Decision to set up a regional transport office

Options :

1. a-(ii), b-(i), c-(iii)
2. a-(iii), b-(ii), c-(i)
3. a-(ii), b-(iii), c-(i)
4. a-(iii), b-(i), c-(ii)

Question Number : 61 Question Id : 50521227935 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 50521227936 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is meant by casual employment?

Options :

1. Workers are not given uniforms and have to come in casual wear
2. Workers have the choice of coming to work whenever they want to
3. Workers are called to work only when the employees need them

4. Workers are employed for fixed periods of time

Question Number : 62 Question Id : 50521227936 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 50521227937 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In a garment industry, which of the following is likely to make the highest profits?
Options:

1. Traders who supply yarn to weavers

2. The multinational companies

3. The weavers

4. Weavers' cooperatives

Question Number : 63 Question Id : 50521227937 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 50521227938 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which is the basic feature of Democracy?
Options :

1. Inequality

2. Free trade

3. Equality



4. Reasonable restrictions

Question Number : 64 Question Id : 50521227938 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 50521227939 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Kavita sells tea at 5:00 am at the bus station. At 7:00 am, she goes to fetch water from a far-away
well. After returning back home she cooks food, washes clothes, cleans the house, and then goes

to the market to purchase items for her tea shop.

Kavita is currently facing:
Options :

1. Care-giving work

2. Double burden

3. House-work

4. Paid work



Question Number : 65 Question Id : 50521227939 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 50521227940 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following Fundamental Rights will be violated if a group of people from Jain

community is not allowed to open a learning centre on the teachings of the Jain Tir thankars.
Options :

1. Right to cultural and educational rights

2. Right to freedom of religion

3. Right to freedom

4. Right to equality

Question Number : 66 Question Id : 50521227940 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 50521227941 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is meant by the Right to Constitutional Remedies?

Options:

1. Right of the government to amend the Constitution

2. Right of the citizens to appeal to the court in case of violation of their Fundamental Rights
3. Right of the government to expand its powers using the Constitutional provisions

4. Right of the citizen to demand that the new provision may be added to the Constitution

Question Number : 67 Question Id : 50521227941 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 50521227942 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Under which jurisdiction of the Supreme Court the dispute between the centre and states are

included?

Options:

1. Original Jurisdiction
2. Appellate Jurisdiction
3. Advisory Jurisdiction

4. Residuary Jurisdiction

Question Number : 68 Question Id : 50521227942 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 50521227943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following Assertion (A) and Reasoning (R):
(A) Empires, in the past, heavily depended on Adivasis for access to forest resources.
(R) The Adivasis had a deep knowledge of access to, as well as control over most of the forests.

Choose the correct option.

Options :

1. Both (A) and (R) are true and R is the correct explanation of A.

2. Both (A) and (R) are true but R is not the correct explanation of A.
3. (A) is true, but (R) is false.

4. Both (A) and (R) are false.

Question Number : 69 Question Id : 50521227943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 50521227944 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements and choose the correct option.

(A) The term 'minority' refers to communities that are numerically small in relation to rest of the

population.

(B) The term 'minority’ is not just about members but encompasses the issue of power, access to

resources etc.

Options :

1. A and B, both are correct.
2.0nly A'is correct, B is incorrect.
3. Only B is correct, A is incorrect.

4. Both A and B are incorrect.

Question Number : 70 Question Id : 50521227944 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 50521227945 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Complete the sentence with appropriate option.
We use inter disciplinary approach in teaching of social sciences to

Choose the most appropriate option.

Options:

1. ensure that syllabus is completed.

2. enable learning within the boundaries of disciplines.

3. illustrate inter connection and interdependence between disciplines.

4. make class more lively and engaging.

Question Number : 71 Question Id : 50521227945 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 50521227946 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Social Science equips children mainly with the ability to
(A) think independently.

(B) question superstitions.

(C) unlearn gender biases and stereotypes.

(D) follow rules and social code of conduct.
Options:

1.A,Band C

2.Aand B

3.Aand C

4.A,B,CandD

Question Number : 72 Question Id : 50521227946 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 50521227947 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sensitivity towards women's issues can be encouraged in classroom by
A. asking students to read the textbook on women in history.

B. listing the constitutional provisions for women.

C. collective introspection on testimonies of discrimination.

D. discussing power relations between men and women in society.

Choose the correct option.
Options :

1.Aand C



2.Band C
3.Band D

4.Cand D

Question Number : 73 Question Id : 50521227947 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 50521227948 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher in a social science classroom, uses artefacts and folktales from a particular culture to

build upon students' curiosity regarding that culture' is an example of

A) story telling



B) role play
C) source method

D) open inquiry
Options :
1.Aand B
2.Band C
3.AandD

4.Cand D

Question Number : 74 Question Id : 50521227948 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 50521227949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Effective teaching of social science is crucially linked to

(A) a shift from rote learning to comprehension, through the implementation of projects and

assignments.
(B) memory based questions and subjective evaluation techniques.
(C) frequent use of complex and expensive teaching aids.

(D) the efficient functioning of the school library and teacher's ability and creatively to utilize the

resources.

Choose the correct option.
Options :
1.Aand B
2.Band C
3.Aand C

4. Aand D

Question Number : 75 Question Id : 50521227949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 50521227950 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the responsibility of a teacher in a democratic classroom?

Options :

1. Leaving classroom decision making to government.

2. Overlook discipline issues in the class and focus on the syllabus.

3. Establishing rules and regulations independent of students and management.

4. Providing a fair chance to all the students to freely express their views.

Question Number : 76 Question Id : 50521227950 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 50521227951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Kilapatrick, which of the following educational methods is the best method in

teaching the concept of democracy?
Options:

1. Project method

2. Play-way method

3. Problem-solving method

4. Discovery method

Question Number : 77 Question Id : 50521227951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 50521227952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To discuss the theme 'Partition’, which primary source could you bring to the class?
Options :

1. Photographs of the refugee camp in Old Fort, Delhi from 1948

2. The film 'Gadar: Ek Prem Kata'

3. The novel 'Train to Pakistan'

4. Excerpts from the story 'Tamas'

Question Number : 78 Question Id : 50521227952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 50521227953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following better reflect as social science class that provides opportunities for critical

thinking?



A. Students can ask questions only at the end of teaching activity.

B. The amount of time for students' questioning is more than teacher questioning.
C. Evidences are made available on the topic discussed in the class.

D. Teacher seeks more than one view point on the topic.

Choose the correct option.
Options :

1.A,Band C

2.B,Cand D

3.A,BandD

4. A,Cand D

Question Number : 79 Question Id : 50521227953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 50521227954 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Suppose you wish to teach students to understand how wage rates are determined. Which of the

following will be highly relevant?

A. Data collected from workers

B. Reports of governments on wages
C. Labour laws/codes

D. Consumer Expenditure Surveys

Choose the correct option.
Options :

1.A,Band C

2.A,Band D

3.A,Cand D

4.B,Cand D

Question Number : 80 Question Id : 50521227954 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 50521227955 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements A and B about a social science class and choose the correct answer.
Statement A: Children must be kept away from knowing and enquiring into conflict.

Statement B: From pedagogical point of view, a conflict which has been settled, debated and

discussed in the media, is the best to teach in the classroom.
Options :

1. Ais true and B is false

2. Ais false and B is true

3. Both A and B are false

4. Both A and B are true



Question Number : 81 Question Id : 50521227955 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 50521227956 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following questions provide opportunities to answer using critical thinking

perspectives?

A. Why women's representation is so low in India? Do you think America and Europe have

achieved a satisfactory level of women's representation?

B. Would you agree with the statement that economic marginalisation and social marginalisation

are interlinked? Why?

C. What do you understand by the word 'government'? List five ways in which the government

affects people.



Choose the correct option.

Options :
1.0nly A

2.Aand B
3.Band C

4. A, Band C

Question Number : 82 Question Id : 50521227956 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 50521227957 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following are examples of primary sources?
A. Photographs

B. Encyclopaedia

C. Speeches

D. Diaries
Options :
1.A,Band C
2.A,Cand D
3.B,Cand D

4. Aand B

Question Number : 83 Question Id : 50521227957 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. ATYT B

Question Number : 84 Question Id : 50521227958 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the Assertion (A) and Reasoning (R) about general misconceptions about social sciences and

choose the correct option.

Statement (A): Social sciences receive less importance in curriculum when compared to other

subjects.

Statement (R): Students feel uninterested in comprehending social science contents.
Options :

1. Both (A) and (R) are true and R is the correct explanation of A.

2. Both (A) and (R) are true but R is not the correct explanation of A.

3. (A) is true, but (R) is false.

4. Both (A) and (R) are false.

Question Number : 84 Question Id : 50521227958 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 50521227959 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The following are some parts of a typical project report.
A. Analysis and Discussion

B. Summary and Conclusions

C. Background to Research Question

D. Methodology and Data sources

E. Recommendations

What could be the most appropriate sequencing of a project report?
Options :

1.B,D,E,AandB

2.C,B,A,DandE

3.C,D,A,Band E

4.D,E, B,Aand C

Question Number : 85 Question Id : 50521227959 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 50521227960 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is generally given least importance while formulating a rubric to evaluate a
project report?

Options :

1. Learning outcomes

2. Student participation

3. Presentation

4. Teacher guidance

Question Number : 86 Question Id : 50521227960 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



i v 5 e 3 o e e e o o e o e e e
Options :

| AT Uiawe
, Termrerat =t afewriraT

3. 3

4. T3187% <7 TmTEEN

Question Number : 87 Question Id : 50521227961 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which cognitive process is assessed in the question- Examine the impact of Mahatma Gandhi

National Rural Employment Guarantee Act in reducing poverty in India?
Options :

1. Remember

2. Evaluate

3. Analyse

4, Create

Question Number : 87 Question Id : 50521227961 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 50521227962 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following questions assesses the conceptual knowledge?

Options :

1. Why is it that we cannot go to the centre of earth? Give reasons.

2. What are exogenic and endogenic forces?

3. Why is the quality of air deteriorating? Give reason and ways and means to improve its quality.

4. Why is the ocean water salty? Give reasons.

Question Number : 88 Question Id : 50521227962 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 50521227963 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following should be considered while developing evaluation procedure as per the

Right of Children to Free and Compulsory Education Act 2009?

Options :

1. Children need to be given home work regularly.

2. As far as possible, corporal punishment should be avoided.

3. Examination should be conducted only after completing the syllabus.

4. Make the child free of fear, trauma and anxiety.

Question Number : 89 Question Id : 50521227963 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 50521227964 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assessment for learning in a Social Science classroom warrants

A. Teachers to review and modify his/her teaching learning processes.
B. Frequently use of peer assessment by students.

C. Use of multiple strategies of assessment.

D. Use of Board directions while formulating assessment framework.

Choose the correct option.
Options:

1.A,Band C

2.Aand C

3.Band C

4.A,Band D

Question Number : 90 Question Id : 50521227964 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TSR TS 1 el § AT 3 ToFT ST e e 2
A. oTe 2Bt AU RTeAT AT SR i TR R U R e 3 o)
B. DT T Y FHITERT o AT 1 ST T AT
D. o= 261 @ 31 TIUIEe e W e o TaaM-Tear &1 T

e faew a1 = i)

Options :
CA,BERC

1

, ARC



4 A B3RD

Language I
Section Id : 505212883
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 5052121607
Question Shuffling Allowed : Yes

Question Id : 50521227965 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension
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Sub questions

Question Number : 91 Question Id : 50521227966 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 92 Question Id : 50521227967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 93 Question Id : 50521227968 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 94 Question Id : 50521227969 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 95 Question Id : 50521227970 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 96 Question Id : 50521227971 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 97 Question Id : 50521227972 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 98 Question Id : 50521227973 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



vﬁﬁﬁ?ﬁﬁﬁmmwﬁmﬁ'ﬁwww
T rgifrg ST e qeag &

I-J

[ R e
. TS H TeAEH g1l

3
. [
4. ST GRS 4

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521227974 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Id : 50521227965 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension
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Question Number : 91 Question Id : 50521227966 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 92 Question Id : 50521227967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 93 Question Id : 50521227968 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 94 Question Id : 50521227969 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 95 Question Id : 50521227970 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 96 Question Id : 50521227971 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 97 Question Id : 50521227972 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 99 Question Id : 50521227974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 5052121608

Question Shuffling Allowed : Yes

Question Id : 50521227975 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 101 Question Id : 50521227977 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 103 Question Id : 50521227979 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 104 Question Id : 50521227980 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 105 Question Id : 50521227981 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Id : 50521227975 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)
Question Label : Comprehension
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Question Number : 100 Question Id : 50521227976 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 103 Question Id : 50521227979 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 5052121609

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 50521227982 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 107 Question Id : 50521227983 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No
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4. 1(D), 11 (E), 111 (E), IV (A)
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Question Number : 111 Question Id : 50521227987 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 112 Question Id : 50521227988 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 112 Question Id : 50521227988 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 113 Question Id : 50521227989 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
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Question Number : 113 Question Id : 50521227989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521227990 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
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Question Number : 114 Question Id : 50521227990 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 115 Question Id : 50521227991 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521227991 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521227992 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521227992 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521227993 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521227993 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
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Question Number : 118 Question Id : 50521227994 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 118 Question Id : 50521227994 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 119 Question Id : 50521227995 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 119 Question Id : 50521227995 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 120 Question Id : 50521227996 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 120 Question Id : 50521227996 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language II

SectionId : 505212884

Section Number: 4



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 17

Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121610
Question Shuffling Allowed : Yes

Question Id : 50521227997 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



Directions: Read the passage given below and answer the guestion
that follow by selecting the correct/most appropriate options.

Fields studies Loss of Learning During the Pandemic (extract)

School closure due to the COVID-19 pandemic has led to complete
disconnect from education for the vast majority of children or
inadequate alternatives like community based classes or poor
alternatives in the form of online education, including mobile
phone-based learning. One complete academic year has elapsed in
this manner, with almost no or little curricular learning in the
current class. But this is only one kind of loss of learning. Equally
alarming is the widespread phenomenon of “forgetting” by students
of learning from the previous class — this is regression in their
curricular learning. This includes losing foundational abilities such as
reading with understanding and performing addition and
multiplication, which they had learnt earlier and become proficient
in, and which are the basis of further learning. These foundational
abilities are such that their absence will impact not only learning of
more complex abilities but also conceptual understanding across
subjects. Thus, this overall loss of learning-loss (regression or
forgetting) of what children had learnt in the previous class as well

as what they did not get an opportunity to learn in the present class
— i5 going to lead to a cumulative loss over the years, impacting not
only the academic performance of children in their school yvears but
also their adult lives. To ensure that this does not happen, multiple
strategies must be adopted with rigorous implementation to
compensate for this overall loss of learning when schools reopen.
This study, undertaken in January 2021, reveals the extent and
nature of the “forgetting/regression’ kind of learning loss (i.e. what
was learnt earlier but has been now lost) among children in public
schools across primary classes because of school closure during the
COVID-19 pandemic. The study covered 16067 children in 1137
public schools in 44 districts across 5 states. It focused on the
assessment of four specific abilities each in language and
mathematics, across classes 2-6.

These four specific abilities for each grade were chosen because
these are among the abilities for all subsequent learning — across
subjects — and so the loss of any one of these would have very
serious consequence on all further learning.

An assessment of the learning levels of children when schools
closed as well of their current status were necessary to understand
any such regression. The former was best done through teachers
who have been deeply engaged with their learners, and thus had a
reliable assessment of children’s abilities, when schools closed in
March 2020. Therefore, this baseline assessment of children’s
learning levels, i.e. where they were assessed on specific abilities in
language and mathematics when school closed, was done based on
a comprehensive analysis by the relevant teachers, aided by
appropriate assessment tools. All abilities associated with the
previous class were not assessed; a few abilities critical for further
learning were carefully identified and assessed. These are referred
1o as specific abilities in the document. ‘End — line’ was the
assessment of the same children’s proficiency on these very same
abilities in January 2021, which was done by administering oral and
wiritten tests.

Sub questions

Question Number : 121 Question Id : 50521227998 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the correct option to justify :

Assertion (A): School closure due to the COVID-19 pandemic has led to complete disconnect from education.
Reasoning (R): - Vast majority of the children are being taught through community-based classes, inadequate online or
phone-based classes.

(1)A s true and R is false

(2)Ais false and Ris true

(3)Both Aand R are true and R is the correct explanation for A
(4)Both A and R are true and R is not the correct explanation of A

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521227999 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given below are 4 real life situation pertaining to school education. Which of the following option is correct.

A B C D
COVID-19 Onecomplete  Littleoralmost  Widespread
Pandemichas  academicyear nocurricular  “forgetting” of
led to complete  has been totally learning has learning from
school closure.  lost. taken place. previous class.

(1)A&B
(2)C&D
(3)A&C
(4)B&D

Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 50521228000 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which best gives the meaning of the word ‘pandemic’ as used in the passage.

1) widespread disease.

2) achronic disease.

3) adisease confined to one region.

4) a disease that has spread all over the world.

Options:
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521228001 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.
a) School closure had led to forgetting by students of what they had learnt in the previous year.
b) Lack of foundational abilities will impact further learning.

1) (a) is right and (b) is wrong.
2) (b)is right and (a) is wrong.
3) Both (a) and (b) are right.

4) Both (a) and (b) are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521228002 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the correct option to justify/show how loss of learning can be remedied.

Assertion (A): It can be ensured that learning loss does not happen.

Reasoning (R): However, rigorous implementation of multiple strategies have to be used for maintain curricular
achievement.

(1)Als true but Ris false
(2)Both Aand R are false but R is the correct explanation of A
(3)Both Aand R are true and R is the correct explanation of A
(4)Als false but Ris true

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 50521228003 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the right option to show how a baseline tool can be made to make a comprehensive assessment.

A B £ D
Assess all grade  Assess Assess all Assess core
level skills/abilities  advanced language skills
competencies  thatlead to conceptsand  and
included in future complex  skills in all foundational
curriculum, learning in subjects maths
language and operations and
maths numericals
1) A&RB
2) A&C
3) B&D
4) C&B
Options:
1.1
2.2
3.3

4.4



Question Number : 127 Question Id : 50521228004 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which is opposite in meaning to the word “proficiency” used in the passage.

(1) advanced abilities
(2)inadequacy

(3) competence
(4)incompetence

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521228005 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘in the form of *
The underline word is a

Options :
1.1
2.2
3.3
4.4

Question Id : 50521227997 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (121 to 128)



Question Label : Comprehension

Directions: Read the passage given below and answer the question
that follow by selecting the correct/most appropriate options.

Fields studies Loss of Learning During the Pandemic (extract)

School closure due to the COVID-19 pandemic has led to complete
disconnect from education for the vast majority of children or
inadequate alternatives like community based classes or poor
alternatives in the form of online education, including mobile
phone-based learning. One complete academic year has elapsed in
this manner, with almost no or little curricular learning in the
current class. But this is only one kind of loss of learning. Equally
alarming is the widespread phenomenon of “forgetting” by students
of learning from the previous class — this is regression in their
curricular learning. This includes losing foundational abilities such as
reading with understanding and performing addition and
multiplication, which they had learnt earlier and become proficient
in, and which are the basis of further learning. These foundational
abilities are such that their absence will impact not only learning of
more complex abilities but also conceptual understanding across
subjects. Thus, this overall loss of learning-loss (regression or
forgetting) of what children had learnt in the previous class as well

as what they did not get an opportunity to learn in the present class
— is going to lead to a cumulative loss over the years, impacting not
only the academic performance of children in their school years but
also their adult lives. To ensure that this does not happen, multiple
strategies must be adopted with rigorous implementation to
compensate for this overall loss of learning when schools recpen.
This study, undertaken in January 2021, reveals the extent and
nature of the ‘forgetting/regression’ kind of learning loss (i.e. what
was learnt earlier but has been now lost) among children in public
schools across primary classes because of school closure during the
COWVID-19 pandemic. The study covered 16067 children in 1137
public schools in 44 districts across 5 states. It focused on the
assessment of four specific abilities each in language and
mathematics, across classes 2-6.

These four specific abilities for each grade were chosen because
these are among the abilities for all subseguent learning — across
subjects — and so the loss of any one of these would have very
serious consequence on all further learning.

An assessment of the learning levels of children when schools
closed as well of their current status were necessary to understand
any such regression. The former was best done through teachers
who have been deeply engaged with their learners, and thus had a
reliable assessment of children’s abilities, when schools closed in
March 2020. Therefore, this baseline assessment of children’s
learning levels, i.e. where they were assessed on specific abilities in
language and mathematics when school closed, was done based on
a comprehensive analysis by the relevant teachers, aided by
appropriate assessment tools. All abilities associated with the
previous class were not assessed; a few abilities critical for further
learning were carefully identified and assessed. These are referred
1o as specific abilities in the document. ‘End — line’ was the
assessment of the same children’s proficiency on these very same
abilities in January 2021, which was done by administering oral and
written tests.

Sub questions

Question Number : 121 Question Id : 50521227998 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the correct option to justify :

Assertion (A): School closure due to the COVID-19 pandemic has led to complete disconnect from education.
Reasoning (R): - Vast majority of the children are being taught through community-based classes, inadequate online or
phone-based classes.

(1)A s true and R is false

(2)Ais false and Ris true

(3)Both Aand R are true and R is the correct explanation for A
(4)Both A and R are true and R is not the correct explanation of A

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521227999 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given below are 4 real life situation pertaining to school education. Which of the following option is correct.

A B C D
COVID-19 Onecomplete  Littleoralmost  Widespread
Pandemichas  academicyear nocurricular  “forgetting” of
led to complete  has been totally learning has learning from
school closure.  lost. taken place. previous class.

(1)A&B
(2)C&D
(3)A&C
(4)B&D

Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 50521228000 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which best gives the meaning of the word ‘pandemic’ as used in the passage.

1) widespread disease.

2) achronic disease.

3) adisease confined to one region.

4) a disease that has spread all over the world.

Options:
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521228001 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.
a) School closure had led to forgetting by students of what they had learnt in the previous year.
b) Lack of foundational abilities will impact further learning.

1) (a) is right and (b) is wrong.
2) (b)is right and (a) is wrong.
3) Both (a) and (b) are right.

4) Both (a) and (b) are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521228002 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the correct option to justify/show how loss of learning can be remedied.

Assertion (A): It can be ensured that learning loss does not happen.

Reasoning (R): However, rigorous implementation of multiple strategies have to be used for maintain curricular
achievement.

(1)Als true but Ris false
(2)Both Aand R are false but R is the correct explanation of A
(3)Both Aand R are true and R is the correct explanation of A
(4)Als false but Ris true

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 50521228003 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the right option to show how a baseline tool can be made to make a comprehensive assessment.

A B £ D
Assess all grade  Assess Assess all Assess core
level skills/abilities  advanced language skills
competencies  thatlead to conceptsand  and
included in future complex  skills in all foundational
curriculum, learning in subjects maths
language and operations and
maths numericals
1) A&RB
2) A&C
3) B&D
4) C&B
Options:
1.1
2.2
3.3

4.4



Question Number : 127 Question Id : 50521228004 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which is opposite in meaning to the word “proficiency” used in the passage.

(1) advanced abilities
(2)inadequacy

(3) competence
(4)incompetence

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521228005 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘in the form of *
The underline word is a

1) Noun

2) Pronoun
3) Adjective
4) Adverb

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 2
Sub-Section Id : 5052121611

Question Shuffling Allowed : Yes



Question Id : 50521228006 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)
Question Label : Comprehension

Directions: Read the passage given below and answer the question
that follow by selecting the correct/most appropriate options.

Examination anxiety is a fairly common phenomenon that involves
feelings of tension or uneasiness that occur before, during, or after
an examination. Many people experience feelings of anxiety around
examinations and find it helpful in some ways, as it can be
motivating and create pressure that is needed to stay focused on
one’s performance. Examination nerves, worry, fear of failure are
normal for even the most talented student. However, stress of
formal examination results in such high degree of anxiety in some
students that they are unable to perform at a level which matches
the potential they have shown in less stressful classroom situations.
Examination stress has been characterised as “evaluative
apprehension” or “evaluative stress” and produces debilitating
behavioural, cognitive, and physiological effects no different from
those produced by any other stressor.

High stress can interfere with the student’s preparation,
concentration, and performance. Examination stress can cause test
anxiety which adversely affects test performance. Person who are
high in test anxiety tend to perceive evaluative situation as
personally threatening; in test situations, they are often tense,
apprehensive, nervous, and emotionally aroused. Moreover, the
negative self — centred cognitions which they experience distract
their attention and interfere with concentration during
examinations. High test anxious students respond to examination
stress with intense emotional reactions, negative thoughts about
themselves, feeling of inadequacy, helplessness, and loss of status
and esteem that impair their performance. Generally, the high test
anxious person instead of plunging into a task plunges inward, that
is, either neglects or misinterprets informational cues that may be
readily available to her/him, or experience attentional blocks. While
preparing for examinations, one must spend enough time for study,
overview and weigh one’s strengths and weaknesses, discuss
difficulties with teachers and classmates, plan a revision timetable,
condense notes, space out revision periods, and most importantly
on the examination day concentrate on staying calm.

Sub questions



Question Number : 129 Question Id : 50521228007 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Anxiety, common before any examination can make a
candidate
A) nervous, worried and stressed.
B) feel comfortable while facing new challenges.
C) experience different type of fear.
D) suffer from mental health and discomfort.

1) A and B are correct but not C
2) Band C are correct but not A
3) Cand D are correct but not B
4) A and D are correct but not C

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521228008 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Feeling of anxiety is sometimes helpful in performance.
Choose the statement which is not correct.

1) Encourages to move forward even after failure.
2) Guides to cope up with the situation.

3) Motivates and creates mental energy.

4) Helps in focussing on target under pressure.

Options :
1.1
2.2
3.3
4.4



Question Number : 131 Question Id : 50521228009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.
A) Examination stress can cause debilitating behaviour.
B) Examination nerves do not affect the most talented
students.

1) Aisright and B is wrong
2) Bisright and A is wrong
3) Both A and B are right

4) Both A and B are wrong

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521228010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is nearest in meaning to the
underlined word?

“Examination stress produces debilitating physiological
effects”.

1) undermining
2) weakening
3) strengthening
4) restorative

Options :
1.1
2.2
3.3
4.4



Question Number : 133 Question Id : 50521228011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A person who is high in test anxiety and takes the
evaluative situation as personally threatening, may NOT
show one of the following symptoms?

1) Concentration

2) Fear

3) Anxiety and nervousness
4) Emotional excitement

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 50521228012 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“.......can cause test anxiety which adversely affects test
performance”
The underlined clause is clause,

1) Principal
2) Noun

3) Adjective
4) Adverb

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 50521228013 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

?

‘While preparing for examination
The underlined word is a

1
2
3
4

Moun
djective
dverb
Conjunction

A
A

[ N )

Options :
1.1
2.2
3.3
4.4

Question Id : 50521228006 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension



Directions: Read the passage given below and answer the question
that follow by selecting the correct/most appropriate options.

Examination anxiety is a fairly common phenomenon that involves
feelings of tension or uneasiness that occur before, during, or after
an examination. Many people experience feelings of anxiety around
examinations and find it helpful in some ways, as it can be
motivating and create pressure that is needed to stay focused on
one’s performance. Examination nerves, worry, fear of failure are
normal for even the most talented student. However, stress of
formal examination results in such high degree of anxiety in some
students that they are unable to perform at a level which matches
the potential they have shown in less stressful classroom situations.
Examination stress has been characterised as “evaluative
apprehension” or “evaluative stress” and produces debilitating
behavioural, cognitive, and physiological effects no different from
those produced by any other stressor.

High stress can interfere with the student’s preparation,
concentration, and performance. Examination stress can cause test
anxiety which adversely affects test performance. Person who are
high in test anxiety tend to perceive evaluative situation as
personally threatening; in test situations, they are often tense,
apprehensive, nervous, and emotionally aroused. Moreover, the
negative self — centred cognitions which they experience distract
their attention and interfere with concentration during
examinations. High test anxious students respond to examination
stress with intense emotional reactions, negative thoughts about
themselves, feeling of inadequacy, helplessness, and loss of status
and esteem that impair their performance. Generally, the high test
anxious person instead of plunging into a task plunges inward, that
is, either neglects or misinterprets informational cues that may be
readily available to her/him, or experience attentional blocks. While
preparing for examinations, one must spend enough time for study,
overview and weigh one’s strengths and weaknesses, discuss
difficulties with teachers and classmates, plan a revision timetable,
condense notes, space out revision periods, and most importantly
on the examination day concentrate on staying calm.

Sub questions

Question Number : 129 Question Id : 50521228007 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Anxiety, common before any examination can make a
candidate
A) nervous, worried and stressed.
B) feel comfortable while facing new challenges.
C) experience different type of fear.
D) suffer from mental health and discomfort.

1) A and B are correct but not C
2) Band C are correct but not A
3) Cand D are correct but not B
4) A and D are correct but not C

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521228008 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Feeling of anxiety is sometimes helpful in performance.
Choose the statement which is not correct.

1) Encourages to move forward even after failure.
2) Guides to cope up with the situation.

3) Motivates and creates mental energy.

4) Helps in focussing on target under pressure.

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 50521228009 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements.
A) Examination stress can cause debilitating behaviour.
B) Examination nerves do not affect the most talented
students.

1) Aisright and B is wrong
2) Bisright and A is wrong
3) Both A and B are right

4) Both A and B are wrong

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521228010 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is nearest in meaning to the
underlined word?

“Examination stress produces debilitating physiclogical
effects”.

1) undermining
2) weakening
3) strengthening
4) restorative

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 50521228011 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A person who is high in test anxiety and takes the
evaluative situation as personally threatening, may NOT
show one of the following symptoms?

1) Concentration

2) Fear

3) Anxiety and nervousness
4) Emotional excitement

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 50521228012 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“.......can cause test anxiety which adversely affects test
performance”
The underlined clause is clause.

1) Principal
2) Noun

3) Adjective
4) Adverb

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 50521228013 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



!

‘While preparing for examination
The underlined word is a

1) Noun

2) Adjective
3) Adverb

4) Conjunction

Options:
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121612

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 50521228014 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching in a multilingual classroom, how can a teacher address the issue of diversity?

1. By mandating the compulsory use of school language in the classroom.
2. By discouraging students to not speak in their mother tongue.

3. By recognizing the mother tongue of the student.

4. By ignoring the use of mother tongue.

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 50521228014 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



While teaching in a multilingual classroom, how can a teacher address the issue of diversity?

1. By mandating the compulsory use of school language in the classroom.
2. By discouraging students to not speak in their mother tongue.

3. By recognizing the mother tongue of the student.

4. By ignoring the use of mother tongue.

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 50521228015 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A 3year-old child is able to perform simple communicative tasks using single word, phrases and short sentences. It
represent the child skill of

1. Oracy

2. Literacy

3. Creativity

4, Language learning

Options:
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 50521228015 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A 3year-old child is able to perform simple communicative tasks using single word, phrases and short sentences. It
represent the child skill of

1. Oracy

2. Literacy

3. Creativity

4, Language learning

Options:
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 50521228016 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Meta — linguistic refers to

a person’s ability to not just understanding the language.

a person’s ability to communicate.

person’s ability to be able to reflect on language and how it works.
4. person’s ability to read and write in many language.

Wb

Options:
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 50521228016 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Meta — linguistic refers to

1. a person’s ability to not just understanding the language.
2. aperson’s ability to communicate.
3. person’s ability to be able to reflect on language and how it works.
4. person’s ability to read and write in many language.
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 50521228017 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student has difficulty in recalling sequence of letter in words and frequently losing visual memory, this may be
associated with

1. Dyslexia

2. Dyscalculia
3. Dysgraphia
4. Dyspraxia

Options:
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 50521228017 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A student has difficulty in recalling sequence of letter in words and frequently losing visual memory, this may be
associated with

1. Dyslexia

2. Dyscalculia
3. Dysgraphia
4. Dyspraxia

Options:
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 50521228018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following language is not included in 8t scheduled of Indian constitution?

Bodo

Bhojpuri

Santhali
4. Manipuri

b e

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 50521228018 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following language is not included in 8t scheduled of Indian constitution?

1. Bodo

2. Bhojpuri
3. Santhali
4. Manipuri

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 50521228019 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An essential pre — requisite for learning language is

a good textbook.

motivation.

positive attitude towards language.
4. agood teacher.

Gl b e

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 50521228019 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An essential pre — requisite for learning language is

a good textbook.

motivation.

positive attitude towards language.
a good teacher.

ol e



Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 50521228020 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The reader goes through the text quickly, in order to get its central idea and substance, understand it's organisation
and comprehends the tone or intention of the writer. This sub - skill of reading is known as

1. skimming
2. scanning
3. intensive reading
4. extensive reading

Options:
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 50521228020 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The reader goes through the text quickly, in order to get its central idea and substance, understand it's organisation
and comprehends the tone or intention of the writer. This sub - skill of reading is known as

1. skimming
2. scanning
3. intensive reading
4. extensive reading

Options:
1.1
2.2



3.3
4.4

Question Number : 143 Question Id : 50521228021 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If a teacher is directing learners to work on place and meaning of words/sentences. What could this is related to?

1. Semanfics

2. Phonology

3. Morphology
4, Syntax

Options:
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 50521228021 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If a teacher is directing learners to work on place and meaning of words/sentences. What could this is related to?

1. Semanfics

2. Phonology

3. Morphology
4, Syntax

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 50521228022 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An example of asynchronous communication is

newspaper
instant messaging
video conferencing
4. instant chat

.l il e

Options:
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 50521228022 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An example of asynchronous communication is

newspaper
instant messaging
video conferencing
4. instant chat

sl il

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 50521228023 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which aspect of language should be seen mainly as a process of discovering uses and functions of items through
exposures to spoken and written inputs?

1. Grammar
2. Skills

3. Fluency
4. Proficiency

Options:
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 50521228023 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which aspect of language should be seen mainly as a process of discovering uses and functions of items through
exposures to spoken and written inputs?

1. Grammar
2. Skills

3. Fluency
4. Proficiency

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 50521228024 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



If learning of a language is not an automatic process, then what is it associated with?

Language learning
Language is a system
Language acquisition
Language is ever changing

L L s o

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 50521228024 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If learning of a language is not an automatic process, then what is it associated with?

1. Language learning

2. Language is a system

3. Language acquisition

4. Language is ever changing

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521228025 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Grammar - translation method of teaching mainly emphasizes on development of languages skills

1. listening —speaking
2. reading —writing
3. listening — writing
4, speaking - reading



Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521228025 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Grammar - translation method of teaching mainly emphasizes on development of languages skills

1. listening —speaking
2. reading —writing
3. listening — writing
4, speaking - reading

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 50521228026 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following two skills are known as receptive language skills?

Listening — Speaking
Reading — Writing
Listening — Reading
Speaking — Writing

P Ll B P

Options :
1.1
2.2
3.3



4.4

Question Number : 148 Question Id : 50521228026 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following two skills are known as receptive language skills?

1. Listening — Speaking
2. Reading — Writing
3. Listening — Reading
4. Speaking — Writing
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 50521228027 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher has instructed his students to prepare a slide presentation on a given topic. Student are to include pictures,
graphics, media clips and links to resource. What competencies will students exhibit at the completion of this project?

1. Analyse the impact of society on media.

2. Recognize the media’s strategies to inform and persuade.

3. Demonstrate strategies and creative technique to prepare presentation using a variety of media.
4, |dentify the aesthetic effects of media presentation.

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 50521228027 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher has instructed his students to prepare a slide presentation on a given topic. Student are to include pictures,
graphics, media clips and links to resource. What competencies will students exhibit at the completion of this project?

1. Analyse the impact of society on media.

2. Recognize the media’s strategies to inform and persuade.

3. Demonstrate strategies and creative technique to prepare presentation using a variety of media.
4. |dentify the aesthetic effects of media presentation.

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 50521228028 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Right to Education Act 2009, recommends the learning through the mother tongue.

up to VIII standard
up to V standard
up to X standard
up to VI standard

e L

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 50521228028 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Right to Education Act 2009, recommends the learning through the mother tongue.

1. up to VIII standard
2. upto V standard

3. up to X standard
4. up to VI standard

Options :
1.1
2.2
3.3
4.4



